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M1S6 Example 1:

In a mortality study on a sample of 40 dragons with censored data, fill in the missing
values. :

i Vi Si b; ;
1 4 3 - -
2 6 - 3 31
3 9 6 4 23
4 13 4 -

5 15 2 4 6
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M1S6 Example 2:

In a mortality study of a cohort of twelve 80-year olds, you are given the following
observed exit times:

1+ 2 2 2+ 4 4+ 5 5+ 7 8 9+ 9+

Enter values in the following table for all that can be done.

[ Vi Si b; T

Now suppose there is a 13" observation that is truncated at time 3 (entered at time 3)
and is right censored before time 4 (exits before time 4). How does that affect the » and
s values in the table above?
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